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O� A100.

2. �ä¢Ý


A =


−1 3 −1
−3 5 −1
−3 3 1


´Ä�é�z. XJ�±, ¦é�Ý
 B ¦� A ∼s B.

3. � A ∈ L(R4) 3IOÄ e1, e2, e3, e4 e�Ý
´
1 0 0 0

1 2 0 0

0 0 1 0

0 0 0 1

 .

O�Ì�f�m R[A] · ei ��ê, i = 1, 2, 3, 4.

4. � D ´ R[x]n þ�¦��f, A = xD, B = D2. �ä R[x]n ´Ø´ A-Ì��m, ´

Ø´ B-Ì��m. XJ´, ¦��Ì��þ.

5. �:

C =



0 1 0 · · · 0

0 0 1 · · · 0
...

...
...

. . .
...

0 0 0 · · · 1

1 0 0 · · · 0


∈ Mn(C).

(i) y²: C �é�z.

(ii) � f ∈ C[t]. ¦ det(f(C)).

6. (À�) � A ∈ Mn(C) ÷v Ak = A, Ù¥ k > 1. y²:

(i) A �é�z;

(ii) XJ k = 2, K A ∼s

(
Er O

O O

)
� tr(A) = rank(A).
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